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y(\t) = ( Data — Model A ) / o y

X /(413460 4880) 4 118=>1.004 4594><9O

Tt Tt I uhm/“uﬂ”\\\ uu‘u m\“/umnwfuMl A A e \mﬂ\Wl\m||\l\u\|i\m|\||\|Mllﬁlllﬁlu\\ W R PR e <t
WWMHHMWW VMW\ \M\ WW WN V WMHH H M\”\ W! ’ | \\ W HH\ H | ’ W W H'” AT A AR WHWWHMMWMMWMHMWWMMWWMMHM - ‘

”"‘le“ ‘(‘ i ‘ ‘ ‘ W ‘imﬂl’\l\h M| \wM\IiHI‘\'\‘H\‘I‘l II I‘I)\W\I‘HI\\I‘W\.“I‘\\H"”#\H‘ W\ i‘l\lﬂ‘m‘l‘\‘\l i W ‘ ‘\“ CD,
o T P e g oot e 1 S

‘ IHHHHIH\‘HH ot | i | i N il it BT A A il

h,wmwnﬁwt“%wmmwmw»WMWWWMWWMWMWWHMMMWNWManMmewWMmWMMwmmmwwwﬂdh%“.wnmhqu'w'

“\H‘\‘HHHH\ H‘ IHI‘H i \IHHHIIH"\HHHH \’\II\HI \I‘\IHHiH\IIIIIHII\IIHII\HIHI ‘I‘I \I"\IIHIHIIIH HI‘IH\IIH III\I\IH\IH\III‘\I\HHHII\‘HHIH HI\I‘ WIIW IHI\I\HHHM IIIHIHIIH‘H‘\H\IHI‘HH\II\I\IHHHIHMHWHH\ VIO HHHH\HIIH\HHHII\I\ | ‘\IHH\HI\ HIII\HH“ il ‘H\‘ | I‘H H‘\I Il ‘H\ i ‘H Il A \“\ HH’HH it | ‘HH‘H { H‘ Il \ \

HﬂM”“ ikl L s o mwwmHMMWWWWMWWWHWWWWWMMWWW
h“”WM‘MNMWM'”“H“'“‘IWNWWNWWL“")WW”'”n”H".|.“”W')’W".*'””’Wﬂ'““l‘n.”

(AL R ‘HHHIH il HIHI\IIHIH\I IIHII i HHII\ i \IHHHHII\I\‘HI\IHIH I‘\I\IHHIHI\IIHHIH\HHII\HIII \IIIII\ \IIIHHH \HI\J\IIH T I‘ I‘\ Ilk \iII\HHH iy \IIIII Il \ H\ ‘ ‘ I \II‘I\I\FI L H%HIH

‘\ I‘H i I ‘\‘\H ‘ (0 IO W H\‘\HHH | ‘\ \ \‘H i IHI“H\‘ ‘\‘\‘\‘:\“H‘\‘\I ‘1‘”‘“‘” H‘\‘:H“II:HIIH\‘ : H:H\I‘:\HI“\‘I“‘I\‘ ‘\‘\‘H\‘ ’H “‘HIH“"““‘H‘I:“ )‘H “J“““‘lll““‘!‘lu““lh“!“‘\l”“ ‘\‘\‘\H
I

I fil
H‘\‘\“‘\ “H: I \“ | ‘H | L | | | ‘ | | \“ | | ‘ ‘ I | HH \ il ’ “ | ‘\“\: ‘H‘HM
| I\‘IHIIHH O g T i ‘ ) O IR 1 1 0 Y | | 1 {1 EON | 1 0] O J i i AN R | | |

—7.29

5000 4000 5000 GOO% P
6<—6.00

ad:728=0.18% N (A) z = 0.60234



